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Pas de calculatrice

| Compétence travaillée

| Difficulté | Socle commun | Nombre d’erreurs |

] Calculer une longueur avec le théoréme de Thales \ * %

v

| | |

Calculer la longueur demandée.

1) | @v)//sv) 2) | vw)//(yu)
T UR =34 cm Y WX =5cm
1%
5 VR =8 cm X UX=6cm
w
v U R TV =4 cm . YU =9cm
Us =7 VW = 7
3) | n//(ML) 4)| (HG)//(FI)
F
L KM =5cm H GE =2 cm
Yy IJ = 5,6 cm E  El=5cm
M 7
K J LM = 7 cm I HG =28 cm
JM = ? FI= 7
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1) (TV)//(SU) 2) (VW)//YU)
T UR = 3,4 cm Y WX =5 cm
1%
5 VR = 8 cm X UX=6cm
w
v o R Tv=4cm . YU = 9 cm
3) (JI)//(ML) 4) (HG)//(FI)
F
L KM =5 cm H GE =2 cm
I 1J =5,6 cm E  El=5cm
M 7
K J LM =7 cm / HG = 2,8 cm
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